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h(d) is the class number of the ring of algebraic integers in Q(v/—d),
where d > 0 is a square-free integer.

h(1)=1] |h(2) =1 |h(3)=1| pi)=2, hE)=2, |M7)=1]
h(10) = 2, | h(11) = 1| p(13) = 2, h(14) = 4, h(15) = 2, h(17) = 4,
h(19) = 1| p(21) =4, h(22) = 2, h(23) = 3, h(26) = 6, h(29) = 6,
h(30) =4, h(31) =3, h(33) =4, h(34) =4, h(35) =2, h(37) =2,
h(38) = 6, h(39) = 4, h(41) = 8, h(42) =4, | M(43) = 1| p(46) = 4,
h(47) =5, h(51) =2, h(53) =6, h(55) =4, h(57) =4, h(58) = 2,
h(59) = 3, h(61) = 6, h(62) = 8, h(65) = 8, h(66) =8, | M(67) =1]
h(69) = 8, h(70) =4, h(71) =7, h(73) = 4, h(74) = 10, h(77) = 8,
h(78) = 4, h(79) =5, h(82) = 4, h(83) = 3, h(85) = 4, h(86) = 10,
h(87) = 6, h(89) = 12, h(91) = 2, h(93) = 4, h(94) = 8,
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h(95) =8, (9

105) =8, h(l
h(111) =8, h(11
119) = 10, h(122)

h(101) = 14, h(102) =4, h(103) =5,
E h

2130) — 4, h(131) =
|

7) =4,

6) 6, h(107) =3, h(109) =6, h(110)= 12,

3)=8, h(114)=8, h(115)=2, h(118)=F,
10 h(123) =2, h(127) =5, h(129) =12,

h
h ) =5, h(133) =4, h(134) =14, h(137) =38,
h(138) =8, h(139) :3, h(141) =8, h(142) =4, h(143) = 10,
h(145) =8, h(146) =16, h(149) =14, h(151) =7, h(154) =38,
h(155) =4, h(157) =6, h(158) =8, h(159) =10, h(161) = 16,
h(163) = 1| p(165) =8, h(166) = 10, h(167) =11, h(170) = 12,

h(173) =14, h(174) =12, h(177) =4, h(178) =8, h(179) =5,
h(181) = 10, h(182) =12, h(183) =8, h(185) =16, h(186) = 12,
h(187) =2, h(190) =4, h(191) =13, h(193) =4, h(194) = 20,
h(195) =4, h(197) =10, h(199) =9, R(201) =12, h(202) =6,
h(203) = 4 h(205) = 8 h(206) = 20, h(209) =20, h(210) =8,
h(211) =3, h(213) =8, h(214) =6, h(215) =14, h(217) =S8,
h(218) = 10 h(219) = 4 h(221) = 16,
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h(222) =12, h(223) =7, Rh(226) =8, h(227) =5, h(229) = 10,
230) = 20, h(231) =12, h(233) =12, h(235) =2, h(237) =12,
238) =8, h(239) =15, h(241) =12, h(246) =12, h(247) =6,

h(230) =
h(238) =
(249) =
(257) =
(265) =
(273) =
(282) =
(289) =
(298) =
(307) =
(314) =
(322) =
9) -
(349)_14 h(353) = 16, h(354) =16, h(355)
(358) =

249) = 12, h(251) =7, h(253) =4, h(254) =16, h(255) = 12,
257) = 16 h(258) =8, h(259) =4, h(262) =6, h(263) =13,
265) = 8, h(266) =20, h(267) =2, h(269) =22, h(271) =11,
273 h(274) =12, h(277) =6, h(278) =14, h(281) = 20,
282 h(283) — 3, h(285) =16, h(286) =12, h(287) = 14,
289 h(290) — 20, h(291) =4, h(293) =18, h(295) =8,

h(299) =8, h(301) =8, h(303) =10, h(305) = 16,
307 h(309) = 12, h(310) =8, h(311) =19, h(313) =8,

314) = 26 h(317) = 10, h(318) = 12, h(319) = 10, h(321) = 20,
322) =8, h(323) =4, h(326) =22, h(327) =12, h(329) = 24,
330) =8, h(331) =3, h(334) =12, h(335)= 18,
339) = 6, h(341) =28, h(345) =38, h(346) = 10,
=4,

h(337) = 8,
h(347) = 5,
h(357) = 8,



Garrett 11-23-2011 4

h(359) = 19, h(361) = 11, h(362) = 18, h(365) = 20,

h(366)
h(374)
h(383)
h(391)
— 12, h(394) =10, h(395) =8, h(397) =06, h(398) = 20,
=16, h(401) = 20, h(402) = 16, h(403) =2, h(406)
h(409) = 16, h(410) = 16, h(411) =6, h(413)
=10, h(417) =12, h(418) =8, h(419) =9, h(421)
h(426) = 24, h(427) =2, h(429) = 16, h(430)
h(433) = 12, h(434) =24, h(435) =4, h(437)
=8, h(439) =15, h(442) =8, h(443) =5, h(445) =38,
h(447) = 14, h(449) =20, h(451) =6, h(453) = 12,
h(455) = 20 h(457) = 8, h(458) = 26, h(461) = 30,
h(463) =7, h(465) =16, h(466) =8, h(467) =71,
469) = 16, h(470) = 20 h(471) = 16, h(473) = 12, h(474) = 20,
A78) = 8, h(479) =25, h(481) =16, h(482) =20, h(483) =4,
)



